
N = 457
457 circles in a circle

radius =   0.043235279185
ratio  =  23.129259689332

density  = 0.854265240337
contacts = 1052
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N = 458
458 circles in a circle

radius =   0.043197756722
ratio  =  23.149350241500

density  = 0.854649153094
contacts = 1041
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N = 459
459 circles in a circle

radius =   0.043156056254
ratio  =  23.171718799284

density  = 0.854862342845
contacts = 1032
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N = 460
460 circles in a circle

radius =   0.043076806806
ratio  =  23.214348373395

density  = 0.853581190903
contacts = 1059
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N = 461
461 circles in a circle

radius =   0.043025781925
ratio  =  23.241878596177

density  = 0.853411456618
contacts = 1070
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N = 462
462 circles in a circle

radius =   0.042972875482
ratio  =  23.270493044199

density  = 0.853160628574
contacts = 1072
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N = 463
463 circles in a circle

radius =   0.042920506673
ratio  =  23.298886185309

density  = 0.852924660507
contacts = 1008

 E.SPECHT
23-APR-2010

N = 464
464 circles in a circle

radius =   0.042877612287
ratio  =  23.322194186201

density  = 0.853059190845
contacts = 1083
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N = 465
465 circles in a circle

radius =   0.042839184772
ratio  =  23.343114611664

density  = 0.853366024642
contacts = 1052
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N = 466
466 circles in a circle

radius =   0.042793637340
ratio  =  23.367959868654

density  = 0.853383654912
contacts = 1036
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N = 467
467 circles in a circle

radius =   0.042755787594
ratio  =  23.388646456258

density  = 0.853702793098
contacts = 1058
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N = 468
468 circles in a circle

radius =   0.042699468972
ratio  =  23.419494998016

density  = 0.853278496417
contacts = 1048

 E.SPECHT
23-APR-2010


